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. - . 4 =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OL7AL20t=HMelAlE AEZZEH =XH
4,000,000 *120H 2 48,000
307 glz2tol & 428,853 330,672 98,181
05 RIZERI & 3 428,853 330,672 98,181
OZ5ld =802 A2 oSt=XHelAld /AES
2,611,330& 123 31,336
O&d Jt0tS ot==HelAl4
2,600,330& +12& 31,204
Ox=8 LENS ot==HeA4
2,707,330& 123 32,488
O=x=8 XHOtS ot==HelAl4
2,256,080& x12& 27,073
Ox=8 220t ot==HelAl4
2,435,250 123 29,223
O0l8 20t ot==HelAl4
2,241,160& 123 26,894
OO0IE ALXIOHS ot==HMelAl4
2,282,080&x12& 27,385
O=& Z20tS ot==HelAl4
2,320,580& 123 27,847
O0l8 =Z0tS ot==HelAl4
2,360,750& 123 28,329
O E36t=xelAld 6,446,500 x12& 77,358
O8d B3ot=HelAlE 3,727, 750& x12& 44,733
OAMA B36t=XelAld 3,748,580& x12& 44,983




